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u, v, w, ...

V {u, v}
uv uv {u, v} u v

uv u v uv uv ∈ E(G) E(G)
E G = (V,E) u v G E

uv u, v

uv uv

G = (V,E)
V E ⊆ V × V

uv {u, v}
(u, v) u v

n n ∈ N

(

2

)

Kn

Kn

Kn = (V,E) : V = {1, 2, ..., n}, E = {ij : i, j = 1, 2, ..., n ∧ i 6= j}



K1
K2 K3 K4

n

n n n

n Cn n Cn

Cn

Cn = (V,E) : V = {1, 2, ..., n}, E = {i(i+ 1) : i = 1, 2, ...n− 1} ∪ {1n},

i(i + 1)
{i, i + 1}

C3

K3

C3 C4 C5 C6

n

n n − 1
Pn

Pn

Pn = (V,E) : V = {1, 2, ..., n}, E = {i(i+ 1) : i = 1, 2, ...n− 1}.

G = (V,E) ∀u, v ∈ V



P3 P5

n

H G V (H) ⊆ V (G) E(H) ⊆ E(G)
H ⊆ G

H = (V (H), E(H)) E(H)
V (H) H G

G H



n n− 1

G

G G

S = (G, z, s, w) G z ∈ V (G)
s ∈ V (G) S w : E(G) → R+

G

4

8

5

3

6

10 8

3

7

9

12

9

v1

v2 v4

v3

z

v5

v6

s

2

S = (G, z, s, w)

S = (G, z, s, w) f : E(G) → R+

0

f(e)

∀e ∈ E(G) : 0 ≤ f(e) ≤ w(e),



∀v ∈ V (G), v 6= z, v 6= s :
∑

e→v

f(e) =
∑

e←v

f(e).

∑

e→v

f(e) ≤
∑

e←v

f(e)
∑

e→v

f(e) ≥
∑

e←v

f(e). f ‖f‖

‖ f ‖=
∑

e←z

f(e)−
∑

e→z

f(e)

e→ v e← v e v

e v e→ z e← z

a/b

z s

Z = {z1, z2, ..., zp} S = {s1, s2, ..., sq}

4/4

5/8

3/5

3/3

6/6

2/10 0/8

3/3

6/7

1/9

1/12

9/9

v1

v2 v4

v3

z

v5

v6

s

2/2

(G, z, s, w)



x1 + x2 = 1
(1, 1)T

f( ) = (x1 − 1)2 + (x2 − 1)2

x1 + x2 = 1.

(0, 5; 0, 5)T

f

S

0,5 1 1,5

0,5

1

1,5

x1

x2

0

x
∗

f( ) = (x1 − 1)2 + (x2 − 1)2

S x1 + x2 = 1

S

f( ) = x1



x2

1 ≤ x2,

x2

1 + x2

2 ≤ 3.

f( ) = (ex1 − 2)2 + (x2 − 2)2.

S 2

S

S

f( ) = 3x1 + x2

x1 + x2 ≤ 2,

x1 ≥ 0, x2 ≥ 0.

2

20 x1

x2

x
∗

S
∗ = (2, 0)T

f( ) = (x1 + x2)
4

x1, x2 ≥ 0,

− 4 ≤ x1 ≤ 2,

− 4 ≤ x2 ≤ 2.

S

L = (2, 2)T f( L) = 256
S



2

4

x2

0 2 4 x1-2-4

-2

-4x
∗

x
L

∗ = (−4,−4)T

f( ∗) = 4096

S ∀x, y ∈ S

αx+ (1− α)y ∈ S ∀α : 0 ≤ α ≤ 1.

x y S x y S



f S,

f(αx+ (1− α)y) ≤ αf(x) + (1− α)f(y)

∀α : 0 ≤ α ≤ 1, ∀x, y ∈ S.

(x, f(x)) (y, f(y))

”
“

x y

f

f(x)

f(y)

αf(x) + (1− α)f(y)

f(αx+ (1− α)y)

αx+ (1− α)y

f S

f(αx+ (1− α)y) ≥ αf(x) + (1− α)f(y)

∀ α, 0 ≤ α ≤ 1, ∀x, y ∈ S.

f

f(αx+ (1− α)y) < αf(x) + (1− α)f(y)

α : 0 < α < 1 ∧ ∀x 6= y, x, y ∈ S.

f(x)

x ∈ S,

S f S

f(x)

gi(x) ≥ 0, i = 1, ...,m

f {gi}

∗

∗ ∗



− 5x1 − 4x2

x1 + 2x2 ≤ 6,

2x1 − x2 ≤ 4,

5x1 + 3x2 ≤ 15,

x1, x2 ≤ 0.

f( ) = −f( )
≤

≥

5x1 + 4x2

x1 + 2x2 + x3 = 6,

2x1 − x2 + x4 = 4,

5x1 + 3x2 + x5 = 15,

x1, x2, x3, x4, x5 ≥ 0.

x1 x2 x3 x4 x5

0 = (5x1 + 4x2 + 0x3 +
0x4 + 0x5)− z

x1, x2

x3, x4, x5

z = f( ) = 5 · 0 + 4 · 0 + 0 · 6 + 0 · 4 + 0 · 15 = 0.



x1

6/1 = 6, 4/2 = 2, 15/5 = 3

(2)/2 →
( (2) · (−1))+ (1)→ ( (2) · (−5))+ (3)→ ( (2) · (−5))+ (4)

x1 x2 x3 x4 x5

x1 x2 x3 x4 x5

x3, x5

x1 x2 x3 x4 x5

x1 = 12/7, x2 = 15/7, x3 = 0,
x4 = 19/7, x5 = 0 z = 120/7 (z = 5 · 12/7 + 4 · 15/7)

i1 i2 i3 ∗



1 2 3 4

1

2

3

4

x2

x1

x
i1

x
i2

x
i3

x
∗

z = T

= ,

≤ ≤ ,



z

≤ 0 ≤ − = ∗

xj ≤ uj x+

j − x−j ≤ uj x+

j

x−j xj x+

j −x−j

m

n

−1

−1
−1 m−2

m− 1 n ≥ m

bi > 0 bi < 0 bi = 0

m
∑

i=1

bi 6= 0,

S D

S =
m
∑

i=1, bi>0

bi, D =
m
∑

i=1, bi<0

|bi|.

S = D S 6= D

S > D S − D

bi > 0
bs

bs = S −D

S < D D − S

bi < 0
|bs| bs = S −D



15

5

-17

15

5

-17 -3

S > D

S = 20 D = 17 S > D

bi = −3 bi > 0

15

5

-23

15

5

-23 3

S < D

S = 20 D = 23 S < D

bi = 3
bi < 0

m × n

aij = 0 j > i i = 1, . . . ,m j = 1, . . . , n.

=





8 0 0
1 6 0
9 3 2



 , =









1 0 0
4 2 0
5 9 3
8 1 6









, =









6 0 0
0 0 0
2 0 0
4 1 9









.

m×n

h( )

h( ) = min(m,n)



12

18

-5
-25

0

0
15

6

20

11

20

20

22

28

10

8

3

15

4

3

8

6
10

12

;

;

;

;

;

;
;

;

;

z = T

= ,

≤ ≤ ,

T = (12, 18, 0,−5, 0,−25); T = (8, 3, 15, 4, 10, 6, 3, 8,
12); T = (15, 6, 20, 11, 22, 20, 20, 10, 28); T = (0, 0, 0, 0, 0, 0, 0, 0, 0, 0)

=

















1 1 0 0 0 0 0 0 0
0 0 1 1 0 0 0 0 0
−1 0 0 0 1 −1 0 0 0
0 −1 −1 0 0 1 1 1 0
0 0 0 −1 0 0 −1 0 1
0 0 0 0 −1 0 0 −1 −1

















.

12

18

-5
-25

0

0
15

20

11

20

10

8

15

4

8

6

;

;

;

;

;

m m − 1 m



m− 1

=

















12 24 25 43 46

1 1 0 0 0 0
2 0 1 1 0 0
3 −1 0 0 −1 0
4 0 −1 0 1 1
5 0 0 −1 0 0
6 0 0 0 0 −1

















.

ˆ =

















1 0 0 0 0
0 −1 0 0 0
0 1 1 0 0
−1 0 0 −1 0
0 0 −1 1 1
0 0 0 0 −1

















,

m × (m − 1)
±

ˆ

i

i

± j i

j

ˆ
1 =

(

±1

1 1

)

,

1 i 1

+1 −1 1

ˆ
2 2 2

ˆ

±



yi

yi yj
yi − yj = ci,j ci,j

di,j (i, j)
di,j = ci,j−yi+yj di,j ≥ 0

(s, t)
ds,t

(s, t) us,t (i, j)
(s, t)

bi > 0



bi bp li,p = 0 ui,p = bi

bi ≤ 0

bp bi lp,i = 0 up,i = |bi|

(i, j) xi,j 6= 0

(i, j) xi,j = 0

ci,j = 0 ui,j = 0

ci,j = 0 ui,j = 0

T = (15, 20, 0,−5, 0,−25,−10);
T = (8, 16, 5, 20, 4, 9, 15, 3, 6, 11, 8, 13); T = (16, 18, 20, 18, 17, 13, 22, 40, 30, 10, 15, 20, 30)

=





















1 1 1 0 0 0 0 0 0 0 0 0 0
0 0 0 1 1 1 0 0 0 0 0 0 0
−1 0 0 −1 0 0 1 1 1 0 0 0 0
0 −1 0 0 −1 0 −1 0 0 1 1 1 0
0 0 −1 0 0 −1 0 0 0 −1 0 0 1
0 0 0 0 0 0 0 −1 0 0 −1 0 0
0 0 0 0 0 0 0 0 −1 0 0 −1 −1





















.

∑

i=0

bi 6= 0



15

20

0

-5

0

-25

-10

16;10

18;8

20;16

18;5
17;20

13;4

22;9

40;15

30;3

10;6

15;11

20;8

30;13

15

20

0

-5

0

-25

-10

16;10

18;8

20;16

18;5
17;20

13;4

22;9

40;15

30;3

10;6

15;11

20;8

30;13

5;1

5;2

5;3

5



15

20

0

-5

0

-25

-10

16;0

18;0

20;0

18;0
17;0

13;0

22;0

40;0

30;0

10;0

15;0

20;0

30;0

5;0

5;0

5;0

5

15;1

20;1

0;1

0;1

5;1

10;1

25;1



B N

yi

1 1



1

2

3

4

5

6

7

8

1

2

3

4
5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

15;1

20;1

0;-1

-5;-1

0;-1

-25;-1

-10;-1

5;0

15/15;1

20/20;1

0/0;1

0/0;1

5/5;1

10/10;1

25/25;1

nB = (17; 18; 19; 20; 21; 22; 23)
nN = (1; 2; 3; 4; 5; 6; 7; 8; 9; 10;

d = (−2;−2;−2;−2;−2;−2;

plnacesta = ()

C = (1;−17;−19)

11; 12; 13; 14; 15; 16)

0,0,0,0,0,0,0,-1,-1,-1)

0/16;0

ui,j − xi,j





nB = (1; 17; 18; 20; 21; 22; 23)

nN = (2; 3; 4; 5; 6; 7; 8; 9; 10; 11;

d = (−2;−2; 0;−2;−2;−2;−2;

plnacesta = ()
C = (2;−17;−20)

15;1

20;1

0; 1

-5;-1

0;-1

-25;-1

-10;-1

15/15;1

20/20;1

0/0;1

5/5;1

10/10;1

25/25;1
0/16;0

5;00/18;0

12,13,14,15,16)

−2; 0; 0; 0; 0;−1;−1;−1)

nB = (1; 2; 17; 18; 21; 22; 23)
nN = (3; 4; 5; 6; 7; 8; 9; 10; 11;

d = (−2; 0; 0;−2; 0;−2;−2;

plnacesta = ()
C = (3;−17;−21)

15;1

20;1

0; 1

-5;1

0;-1

-25;-1

-10;-1

15/15;1

20/20;1

0/0;1

10/10;1

25/25;1
0/16;0

5;05/18;0

12; 13; 14; 15; 16)

−2;−2;−2; 0; 1;−1;−1)

0/20;0



nB = (1; 2; 3; 17; 18; 22; 23)

nN = (4; 5; 6; 7; 8; 9; 10; 11;

d = (0; 0; 0; 0;−2;−2; 0;

plnacesta = ()
C = (8; 1;−17;−22)

15;1

20;1

0; 1

-5;1

0;1

-25;-1

-10;-1

15/15;1

20/20;1

10/10;1

25/25;1
0/16;0

5;05/18;0

0/20;0

−2;−2;−2; 1;−1;−1)

12; 13; 14; 15; 16)

0/40;0

nB = (1; 2; 3; 8; 18; 22; 23)
nN = (4; 5; 6; 7; 9; 10; 11;

d = (−2;−2;−2; 0; 0; 0; 0;

plnacesta = ()

C = (4; 8;−18;−22)

15;-1

20;1

0;-1

-5;-1

0;-1

-25;-1

-10;-1

20/20;1

10/10;1

15/25;1
0/16;0

5;05/18;0

0/20;0

10/40;0

0; 0;−1;−1;−1)

12; 13; 14; 15; 16)
0/18;0

nB = (1; 2; 3; 4; 8; 18; 23)

nN = (5; 6; 7; 9; 10; 11;

d = (0; 0; 0;−2; 0; 0;−2;

plnacesta = ()

C = (9; 4;−18;−23)

15;1

20;1

0;1

-5;1

0;1

-25;1

-10;-1

5/20;1

10/10;1

10/16;0

5;05/18;0

0/20;0

25/40;0

15/18;0

−2; 1; 1;−1)

12; 13; 14; 15; 16)0/30;0



−18 −23
u3,7 = 30 18 − 15

x3,7 = 3

x2,3 = 18

nB = (1; 2; 3; 8; 9; 18; 23)

nN = (5; 6; 7; 10; 11; 12;

d = (−2;−2; 0; 0; 0; 0; 0;

plnacesta = (4)

C = (5; 1;−2; 9;−18;−23)

15;-1

2;1

18;-1

-5;-1

0;-1

-25;-1

-10;-1

2/20;1

7/10;1

10/16;0

5;0
5/18;0

0/20;0

25/40;0

18/18;0

3/30;0 13; 14; 15; 16)

−1;−1;−1)

0/17;0

nB = (1; 2; 3; 5; 8; 9; 23)

nN = (6; 7; 10; 11; 12;

d = (0; 0; 0; 0; 0; 0;−1;

plnacesta = (4)

C = (14; 1;−2; 9;−23)

15;-1

2;-1

18;-1

-5;-1

0;-1

-25;-1

-10;-1 5/10;1

12/16;0

5;0
3/18;0

0/20;0

25/40;0

18/18;0

5/30;0

2/17;0

0/5;0
13; 14; 15; 16)

−1;−1)



nB = (1; 3; 5; 8; 9; 14; 23)

nN = (2; 6; 7; 10; 11; 12; 13;

d = (1;−1; 1;−1;−1;−1;

plnacesta = (4)

C = (6; 1;−3;−5; 9; 14;−23)

15;-1

2;0

18;-1

-5;0

0;-1

-25;-1

-10;-1 2/10;1

15/16;0

5;0

0/20;0

25/40;0

18/18;0

8/30;0

2/17;0
3/5;0 15; 16)

0;−1;−1)

0/13;0

nB = (1; 5; 6; 8; 9; 14; 23)

nN = (2; 3; 7; 10; 11; 12; 13;

d = (1; 1; 1; 0;−1;−1;

plnacesta = (4)

C = (11;−8; 9; 14;−23)

15;-1

2;0

18;-1

-5;0

0;0

-25;-1

-10;-1 2/10;1

15/16;0

5;0

25/40;0

18/18;0

8/30;0

2/17;0
3/5;0

0/13;0

15; 16)

−1;−1;−1)

0/15;0

nB = (1; 5; 6; 8; 9; 11; 14)

nN = (2; 3; 7; 10; 12; 13;

d = (0; 0; 0; 0; 0; 0; 0; 0)

plnacesta = (4)

15;0

2;0

18;0

-5;0

0;0

-25;0

-10;0

15/16;0

5;0

23/40;0

18/18;0

10/30;0

2/17;0
5/5;0

0/13;0

2/15;0
15; 16)



nB = (1; 5; 6; 8; 9; 11; 14)

nN = (2; 3; 7; 10; 12; 13;

d = (−6; 18; 5; 22; 9;−2;

plnacesta = (4)

C = (15;−11;−14)

z = 682

15;25

2;31

18;15

-5;11

0;27

-25;0

-10;12

15/16;10

5;12

23/40;15

18/18;5

10/30;3

2/17;20
5/5;2

0/13;4

2/15;11
15; 16)

−11; 1)

0/5;1

nB = (1; 5; 6; 8; 9; 14; 15)

nN = (2; 3; 7; 10; 11; 12;

d = (−17; 7;−6; 22; 11;

plnacesta = (4)

C = (2;−1;−8;−14; 15)

z = 660

15;25

2;20

18;15

-5;0

0;16

-25;0

-10;12

15/16;10

5;1

23/40;15

18/18;5

10/30;3

2/17;20

3/5;2

0/13;4

2/5;1

13,14,16)

20,9,12)

0/18;8

nB = (1; 2; 5; 6; 8; 9; 15)

nN = (3; 7; 10; 11; 12; 13;

d = (24; 11; 22;−6; 3;−8;

plnacesta = (4)

C = (13;−1; 2;−5; 6;−9)
z = 609

15;25

2;37

18;15

-5;17

0;33

-25;0

-10;12

12/16;10

5;1

20/40;15

18/18;5
10/30;3

2/17;20

0/13;4

5/5;1

3/18;8 14,16)

17,12)
0/30;13



nB = (1; 2; 6; 8; 9; 13; 15)

nN = (3; 5; 7; 10; 11; 12;

d = (16; 8; 11; 14;−6; 3;

plnacesta = (4)

C = (11;−1; 2;−8)

5/5;1

z = 593

15;25

2;29

18;15

-5;17

0;25

-25;0

-10;12

10/16;10

5;1

20/40;15

18/18;5 8/30;3

2/13;4

5/18;8

2/30;13

14,16)

17,12)
0/15;11

nB = (2; 6; 8; 9; 11; 13; 15)

nN = (1; 3; 5; 7; 10; 12; 14; 16)

d = (6; 22; 2; 5; 20; 9; 11; 12)

plnacesta = (4)
z = 533

5/5;1

15;19

2;29

18;15

-5;11

0;25

-25;0

-10;12

5;1

10/40;15

18/18;5 8/30;3

2/13;4

15/18;8

2/30;13

10/15;11



10

0

-3

-3

-4

7;3

7;6

7;3

7;8

7;4

7;2

= (3, 7, 3, 0, 3, 4)
z = 80



12

30

60

5

3

8

6

12

4
7

13

20

6

10

7

9

5

3

8

12

5

9

2

4

7

10

6

8

3

4

9

2

7

5

1

3

12

13

10

15

14 20

18

16

17

19

16

18

12

11

10

13

14

16

13

15

-15

-8

-16

-15

-3

-6

-2

-33

-4

2, 4, 6, 7, 14, 15, 18, 29,
30, 31, 32, 36, 46, 47, 49, 52, 53
= (12, 30, 14, 46, 15, 41, 46, 43,
39, 2, 33, 33, 15, 24, 15, 8, 16)

z = 2737





z

z = 19207261

z

z = 80365308

z



z



z






